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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o P G F T B AL F 59 99799 § GRa g 7 o 797 13 8

Please make sure that the printed pages in this question paper of Part-I are 7 in
number and it contains 13 questions.
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The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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General Instructions :

() All questions are compulsory.
(i) Marks of each question are indicated against it.

(iii) Question Nos. 1 to S are very short answer type questions carrying 2 marks
each. Answer to these should normally not exceed 30 words each.

(iv) Question Nos. 6 to 10 are short answer type questions carrying 3 marks
each. Answer to these should normally not exceed 60 words each.

(v) Question Nos. 11 to 13 are long answer type questions carrying S marks
each. Answer to these should normally not exceed 130 words each.

(vi) Internal choice is available in all long answer type questions. You have to
attempt only one of the given choice.

(vii) Word limit is not applicable to formulae, numericals and diagrammatical

questions.
gue — A
SECTION - A
[ SHi-TgRIeT® 999 |
[ Very Short Answer Type Questions ]
1. ®H & Gge & A - 8§ 7 2

What are the equilibrium conditions of the firm ?
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2. BT A & & SaEXU Qi

Give two examples of Transfer Payment.

3. e & q F R B ?
What do you mean by Primary Sector ?

4. RS JHf & el g WafHs FE & TH SqE

State any two primary functions of Commercial Banks.

5. STUSE @ Nl HeT Grael gREmT i

State the material welfare definition of Economics ?

gug - §
SECTION - B

[ T 99 |

[ Short Answer Type Questions ]

6. ‘THIAHR' T Qo UfE@ifer § &8 a7 =< Tasu
State any three differences between 'Monopoly' and 'Perfect Competition'.

7. ‘Wl aEGA! TN ‘A aggell’ § =) TaEu

Differentiate between 'Intermediate Goods' and 'Final Goods'.

8. B % % PT 7 HY SAERY

State any three functions of Central Bank.

9. ‘YA AY TN ‘ANUR IV H =R B
Differentiate between 'Balance of Payments' and 'Balance of Trade'.
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Calculate Total Fixed Cost and Average Variable Cost with the help of given

data :
Production (Units) 0 1 2 3 4 S 6
Total Cost (Rs.) 40 80 110 126 128 135 180
gls - 9
SECTION-C

[ Long Answer Type Questions ]

11. QO SRERar & oreueren Refd & &H & dwgem & A [ ary e #7X

[ & TS 97 |

5

Discuss short-run equilibrium of the firm in perfect competition by marginal

approach.

Explain in brief, the 'Law of Supply' with the help of a diagram.

e
OR
G & gerEd @ Yfd & MEw @ ey | e w1

12. T A H A0 B @F QR B R S

Explain the 'Expenditure Method' of measuring National Income.
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et RSt &l T | SO HiFd W ‘Y& TS IAE F1d &

i o g 4
(i) T &5 H Qe A W IS T I 60,000
(i) fadees &= e aFd W 98 09 915 40,000
(i) | JEH & § T A W IS T g5 30,000
(iv) | & ST & 20,000
(v) faesl | U S qET e (-) 5,000
(vi) | Rer ol SusrT Sreran frmEae 10,000

Calculate Net National Product at market price with the help of the following

data :

Items

Rs. Crores

(i)

(i)

(i)
v)

(vi)

Net value added at factor cost

primary sector

Net value added at factor cost

secondary sector

Net value added at factor cost

tertiary sector

Net indirect tax

Net factor income from abroad

Consumption of fixed
depreciation

capital

or

60,000

40,000

30,000
20,000

(-) 5,000

10,000
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13. O P B A H A B SAAD [ty P A S 5
Explain the proportionate method of measuring price elasticity of demand.
AYAT
OR

T SUHHRT T a6 H 50 THEAN 4 T T TR WIS 51 O 39 9% B HAA 25%
R S &, o g9l |17 100 39 & SR &1 AT & Hed A S Bl

A consumer buys 50 units of a good at Rs. 4 per unit. When its price falls by

25%, its demand rises to 100 units. Find out the price elasticity of demand.
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